M EXlz2tel
dx: EX2elg

=
o9l DAZHO| £

A

SH-EH . O3 - MBAY - BAS 0l &b o Soe HRZ2
EX 2t 3,345,710 2,298,360 1,047,350
= 659,400
= 2,686,310
EXN2ACO SESHZELXHINL/XNAUTA|) 1,312,000 1,068,400 243,600
= 659,400
== 652,600
NHESAO EXHE 2 10,000 11,000 A 1,000
EXZel ¥ HeHEAN & 10,000 11,000 A 1,000
202 044l 10,000 8,000 2,000
01 2| 10,000 8,000 2,000
ORSAHUAEN EE 10,000
ENHNE 29 94,000 174,000 80,000
= 46,400
== 47,600
A& HEH ALY 30,000 60,000 30,000
308 AXHMSOIH 30,000 60,000 30,000
01 MXSHHBNEXS 30,000 60,000 30,000
OXIHZH FHHIAMSA 30,000
NE=2 gutzel 17,600 114,000 96,400
201 B2 AH| 5,600 26,000 N 20,400
01 AFERZeltl 5,600 26,000 N20,400
OXHE - M=A 238 29 5,600
202 (4 10,000 8,000 2,000
01 Z2WdHYI 10,000 8,000 2,000
(OPNESES= i/ ==PN; 10,000
401 AlEHIZLL20H] 2,000 80,000 278,000
01 Al&H| 2,000 80,000 78,000
O2HEIId B&=2e 2,000
A28 dlsH(=1) 46,400 0 46,400
= 46,400
202 044l 5,000 0 5,000
= 5,000
01 =20 5,000 0 5,000
OXNH=EHAD >3 5.000
= 5,000
308 AXHMSOIH 41,400 0 41,400
= 41,400
01 XAXSHHBIAEEZ 41,400 0 41,400
OXNESE &g AFY 41,400
= 41,400




SH: XD
Hu: EXR2lo EEEHZELXNAML/NALTAI)
S

Sl MEL - B2 25 (e
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ

MEA - B2 B3t 1,208,000 883,400 324,600
= 613,000
= 595,000

S2IIE XGAILE FAEH(2D) 480,000 500,000 20,000
= 480,000

403 XX SIS K20 & 480,000 500,000 20,000
=2 480,000

01 MXSHAX=SE 480,000 500,000 20,000
OZZIIBXGAILE Mast 75 - SB2Y 480,000
=2 480,000

MZEA - B2 Z25 ALY 469,000 154,000 315,000

201 Ygreg| 148,000 117,000 31,000

02 222 Y| 148,000 92,000 56,000
ONEFAFY 2 148,000

202 01t 11,000 9,000 2,000

01 =LH0i | 11,000 9,000 2,000
OMZL - BARR AL =X 11,000

207 ALl 300,000 0 300,000

02 A 300,000 0 300,000
OBAWBAIALY DT3 AL 300,000

308 XHXISHHI SO 10,000 28,000 18,000

01 MHXSHHBA2ES 10,000 28,000 A 18,000
OERUAFTAANY AL SN2 10,000

MEAROAIY £2(27) 180,000 200,000 20,000
= 54,000
= 126,000

201 Yer2g| 180,000 200,000 20,000
= 54,000
= 126,000

01 AtR2elt] 180,000 200,000 20,000
OMZEAR0IAY 22 180,000
=2 54,000
= 126,000

MEANY AES SRRE(2D) 79,000 29,400 49,600
= 79,000

308 XHXI IS Ol & 79,000 29,400 49,600
=2 79,000

01 MXSHZHSES 79,000 29,400 49,600
OMZAALY A&S S22 79,000
=2 79,000

SEHOl THAZD (LB HY/UBHT) 1,996,800 1,191,600 805,200




EXl2el
S0 Tare (Lt SHY /LB )
2.z 2o TR
‘:‘}\_I X XH C|—O|(;|j:”) }\-“C‘}\I.O'I HAXZ X‘—-IL‘jL:— =2}
. = Tl (2 ° . [= Bl e 0:”/|l|,% ==
= - S Ma 22| 1,996,800 1,191,600 805,200
= - SRMLS 85 22| 1,158,800 991,600 167,200
201 LBt 306,800 237,000 69,800
01 AFR 22l 306,800 237,000 69,800
O==M& Mol=+ =M=l 200,000
OZAH(=2) dXt 52,800
OSHMA 2dHEI =2 19,000
OERMA AEHZAL 22 35,000
202 O4H| 13,000 16,600 A 3,600
01 =LA bI 13,000 16,600 A 3,600
O= - SN AHIZAI & RIS 13,000
308 A+XIEXHS0|& 839,000 738,000 101,000
01 AXESHMABLEXS 839,000 738,000 101,000
OZFMat &l B X 839,000
SSMAE Al B 838,000 200,000 638,000
401 AM&HIYL 2048 838,000 200,000 638,000
01 Al&H| 838,000 200,000 638,000
Ok ERAE & EXEY 838,000
HY2AHUI(EX 22| D)(IIEH/DIE) 36,910 38,360 A1,450
| =&l 36,910 38,360 A 1,450
A=29 Jl=2Z | 36,910 38,360 A 1,450
201 B2 H| 27,310 24,720 2,590
01 AbR22lH| 27,310 24,720 2,590
ORNMZZE AIR22] 27,310
202 O4H| 9,600 8,640 960
01 =LA bI 9,600 8,640 960
ORME2Z =UAHI 9,600




